KI5

KT #&#0 / KN #% X 1248

7 n 6% &R

EERU* RS

== fAaX A

EmRFRANMRST




KT1=#H

()
KT 514545 22 B B@j

KT -60-10-P-E-200rE-B—-1-E-F0—-S0—M

@ @ ©) @ O ©, @ @ ®) @ ®
® @ Q
B R~ EERIBIZ (BS) M2
KT /KTC/KTB 30 40 50 40 86 100 KT30:1
B {ffEiE KT40:1
CiglE KT50:2
WATSE: MEE KT40:5,10,20
KT86:10,20
KT100:20
@ ® ®
BEER E : RBRIRIIE M T HERE (mm)
P: $BE4R YRGB REER KT30:75,100,125,150,175,200
C: ZBk KT40:100,150,200

KT50:150,200,250.,300
KT60:150,200,300,400,500,600
KT86:340,440,540,640,740,940
KT100:980,1080,1180,1280,1380

@ @
PERHMT BEDR BEHE: 1.2
R TR BAmER

)

BB T BN B EERE

RS REEER REEHER

@ E)

& HEIRBIR M: HiEiE

SO: A HHERIIE ROoR: B

S1: SX671%!

S2: SX674%!

S3: GX-F12A#!

S4: CX-F12A-P#




KT1=4H

KT301RAEAY

EEE/AER

WS ASZ fmi

RIS . RIRIRAR| BEE R BiE E
mEn | cma o0 PR wpe RE | HE | BE | ME | ZOAE HE |FERE
1AMk . Z2@E Jo=Fc:)
30 |1 a4 A4 58~62HRC |1Bas | TE  lmas| &
KT30 | KTC30 e &4 | 448 BE® |, B8 s
" 23
38 2x2-M2.6x0.45Px4 DP 14 5 4—M3X0A5PX62DP 03.4 THRU.06.5x2 DP
xn-@3. ,06.5x
: 32 ‘ 2x2-M2.6x0.45Px3.5DP i P P ETE AR 5
s 8y oo EHaL i
[Te] ©
N2 ol ‘ —1 4] e
7 g"’ | } - 1] ! S
o 14 8|} :
30 %
SECTION A-A 8
44
10 115 25
; A e :
f Wb [ -
| L | 1
Q ] 2 T3 —— — Eé i H =-VIEW B
Ol @ o i e ] s e bbbl L= 1
I 2\ © [y 50 |
4-03 THRU/ S Q@ (n-1)x50 La
viEws
ke o | 0BE g o iz s B lgre o BoAfTE | REE/EEko|[alE/ER k|
o F75m |omm | REL| #E [O7C 0| sy |° ERAN/ZENDEE wElEe| U L S8 B B SB[ [ R EE
129 12.5] 2| 31 - 0.2 0.24 -
75
100 154|125 | 2| 56 - 0.23 0.27 -
B1(1 FE3EY
oo |& | s (f)| clEms)| TR () 179|125 3| 81 | 45 | 0.26] 0.3 | 0.3 |0.36
B2(21A) | P(¥24R) F2 g?(ﬂﬁm[@!shﬁ;] 6|1
150 szﬁgﬁﬁﬂﬁsm} 204|25| 3| 106 | 70 | 0.29| 0.33|0.33|0.39
S3(1BERENE GX-F12A)
175 SA(HERRBE CX-F12A-P) 229 [12.5 4| 131 | 95 | 0.32| 0.36|0.37(0.43
200 25425 | 4| 156 | 120 | 0.35| 0.39| 0.4 |0.46




KT1<4H

K130 7

BEE/FEE

@ HBRFIR/ RETER TR

SO(tEpRENIE)

S2(1BBRENIESXE74)

3 482
(=] .
-
C ]
<
o &
58

S1(#mBRENIE SX671)

S3(1EFRENE GX-F12A)
S4(HBFRENE GXF12A-P)

RIIE 15 B ) ) R e I
ST (FBERERIE SX671)
S2IBIRBLESX674)
N S3(HEIRENIH GX-F12A)
S4({EFREE GXF12AP)
@ BEZER @ SKERE
copg |ERE | EUEBE | EORE | GEFGE [mxsmanivon ZoE | RO | BUERE | EE(mm/sec)
e 2 [Hap | e Deg | hel | Bag | Bed | DE% | mEk ~ g2 (mm)| L (mm)[EER [BER
75 75
100 100
KT30 125 |, . KT30 125
crea0 16y |£0-004]0.003] 0.040 | 0020 | 0010 | 0.010 | 08 | 12 crea0 01 12 160 | 160
175 175
200 200
Mep My Mg
—~ ‘ A~ ‘ A~
—eL=ls 4D
RS O 5
o o w'@;,fif,;gw ‘.
\1 r\
==
@ SRR
TRPRIZE LREEE
/\ oI = &
ey 2 3 AT | EABREAR Rt e
R gg;; phig | |RAIR EERE) TN N NP INm) My N BMaNm)
A Jimm) [(Mmm)] ") N [sBEAEES [BREA [BEES [amalmmalmms [rms: [ mmammadl mms [ mmsmmalamal mes | wes.
KIS0 | B#| o | | | 618 11079 1oo1g| - |3510| - |14 |73 | - | - |wa|73| - |- |w4a|73] -] -
KTC30 | F% 5 647 | 1088
RIIE |- B |- | DEREL|- | BEHE| - | BEZHR| - BEEE ERE | - | RREAR/ REDNIERE
/ kT30 |- 601 |- L75 - B1 - P - F1 - S1
(i — KTC30 - 601 - L100 - B1 - P - F1 - S1
|°__b R B | 1-5 | 5~
Discount # 0 | 100% |5ﬁﬁﬂ




KT1=4H

KTAOfE e

mE

ZWNRAZ o

B/ BEE

RIEB " “Ijﬁﬁﬁﬁ JBEE JREE BiEXE BE
mEE | sme o0 BE | we TRE (WA | ®BE | bE|ZEAE HE |RARE
ARk . . o2kc:) =)
40 . 1 A& |64 | 58~62HRC | t8aE| T $Ea
KT40 KTC40 e & A2 84 = HEe -
58
33
_2x2-M3x0.5Px4 DP. 20 4-M4x0.7Px14 DP
6 2xn-@3.4 THRU,36.5x3 DP
50 5 2x2-M2.6x0.45Px4 DP
45
37
- 1
«©|
o Bi====10l 4 ’E’" 8
g £ [H] (] 1k
C] 199
18
IENETIN
SECTION A-A
- 49
12 25
4-M3x0.5Px6 DP -
—A =8|
i i T
° ¥ ¥ ‘ A
7 | ‘ %
® Sle=—— ——— Eé e g vews
3 i s bbbttt s - 1
) =
(n-1)x60 G Q
B oE | ©BE | © B s B | BRE | o BRI | s/ ER (ko) | RuE/EE (ko)
0 R5E |eHiE | REL| #HE OB TEEEE O HEIR R/ 2 B | uE L1 " FomE R | somE (waE | wRE whE
) 159 (20| 2 |36 | - |0.48| - |055| -
X100 N SO(RFHEFR#NIE)
ﬂégo go1 | 1so | BN clEEA) ; g;%g&%ﬁ&gm 8 | 1| 209 [15|3|86|34| 06 [067[0.68[0.76
200 | B2(2f@) | P(#5%4R) 3 S3(HEMRHLE GX-F12A)
SA(HEMRENE GX-F12A-P) 259 |40| 3 |136| 84 |0.72|0.79|0.82|0.89

EXPEREAFERE



KT1=#H

KT40fEE 7Y o

EEE/AEE

@ 1ERREAR/ R RMIBER &

SO(#BFRENIE) S1(#BBRENIE SX671)
e
® 8
o ‘ 4.2 ‘
—
58
S2(HBIRENIESX674) S3(#EFRENE GX-F12A)

S4(1BIRENIE GXF12A-P)

RN 100 AR 2 e e f i i
S1 (BPRENIH SX671) 15.3 12 _ -
KTC40 S2(HEBRENESX674) 10.5
S3(1BREE GX-F12A) _ ] 1as o
S4(HEBRENE GXF12A-P) ) )
@ FESR @ ZREE
=55 MERE ENERE | EEE | GETFGE  [mAammni-cm) - wmrpizis | #hiase BE (mm/sec)
- L2 TEG | BER| BER | BER | DER | BER | TEE | KRR TR e (mm) L (mm)| EER | BER
100 100
KT40 - - KT40
150 | £0.01 |£0.003 0.020 0.010 | 0.8 1.2 01 150 190 | 190
KTC40 0 KTC40 760

=
<
4
E3
=
3

I@%‘—A
o

ﬁ%r;
jl
o fe
_elfel]

@ S
RIRIER ARIMEBEL
e A AT R | A ER AT BTN
B g; sh |2 |EEEE EARER) FEUGE N VP IN-m) ffMy(N-m) REMO(N-m)
& (mm) Uit (N) (N) | SBEEA | JBEES SBEEA |BEES [MBEEA [FBEEA2[SRIEES: | SREES: | SBEEAI | SBEEA| SRIES: | SHEES:[REEA [ SREEA:| SBIEES) | BEES
Ki40 |\ BBR| g | g | 676 11284 13050| _ |g468| - |33 182 - | - [33|182| - | - |33 [182] - | -
KIC40 | %4k 735 1538
73056 |- MiE |- [ QEREL - [ BEHE |- [BEZR | - [EEEEREmBE | - [ SREE/REERE
KT40 - 801 - L100 - B1 - P - F1 — S1
KTC40 - 801 - L150 - B1 - P - F1 - S1
iscoun e | 100% |§§ﬁ'ﬂﬂ




KT1=4H

KT504Z 4 51

oy s 1 s
mEE/GEE
R " gy | BORGRAR BEE R EE BEXE #E
e | sma 0| PR we EE | ME | BE | ME |ZERE HE [RARE
LGililcd - - 26 foa=:)
KTC50 50 s 2 S&i |[5&H| 58~62HRC | t8E&| T #BE
74
47
2x2-M3x0.5Px4 DP 30 4-M4x0.7Px10 DP
62 2x2-M2.6x0.45Px4 DP 8 2xn-@4.5 THRU,@8x4 DP
55
47
| —
<
i 3
Fr i
g - HIPESL
[s¢] |
N
25 _[125
50
SECTION A-A
60
4-M3x0.5Px6 DP 14 3
P.CD.33 ; 16.5,
— \ . <10_, ‘ A 10|
° ojjo [Nl T
J L] Q . — 1lbo ‘ 1.2
3 g i( 6{{,$ g A1 ,Ei’v?fl;i,i,”ijﬂf,ifgfﬂj, 734‘;}}7,*,‘77 +§+*V|EWB
i ! Q
I 9 & | "’DJ’U””E":F ”””””””” i iy N o
l—A 80 5
w e}
VIEW B J (n-1)x80 G Q
Y o | 0mE 0 BiEEE e s B | @rE | o BoAfTE | RER/ER()
0 RIE |eofE | REL| WE it s |2 BRAR/ZERERE BE| g U " [eaa]wna] wan[umm
o zq;ﬂ_%(%)m ) 220 35| 2 |70 1.1 115
. SO(R B HERENIE
. 802 ggg B1(11@) | c(ZiE4) F1 S1 (BB SX671) 8| 2 270 | 20| 3 | 12055 | 1.3 | 1.8
KTC50 300 | B2(2fm)| PUEERL Eg gggggsﬂgg;ﬁ)%) 320 | 45| 3 [170] 105 1.6 | 1.8
SA(HEFRELE GX-F12A-P) 370 | 30| 4 | 220| 155| 1.8 | 2.0
HEXMEREIGERE



KT1=4H

KT5073% 5

EEE/AEE

RASZ fmi

@ 1ERREIR/ ZRBUER &

SO(fi8 PR E)
ol 8
° ‘,L,‘
i
o]
S2(HEFRBNIESXS74)

ST (1BBRENIE SX671)

S3(HBFRENE GX-F12A)

S4(1ERENE GXF12A-P)

RI HEPR BB R S EE a b c d 9 h
ST (iBpRENIE SX671) 45.5 59 ] 10 i B
S2(HEPRENESX674) 41.3 48 10.5
KT50 S3(HBARHLIE GX-F12A) - - i -
SA(HEFRENE GXF12A-P] 39.5 5.7
@ FESR @ ZTKREE
=5 NERE ENERME ENFEE TEFTE  |[BoAREA(N-cm) =55 RERiZAR | shERe EE (mm/sec)
o L2 LB | BER| BER | BRR | BER | BER | BER | BER - B2 (mm)| L (mm)| EEHK | BER
— 150 150 270 270
200 . N - 200 270 270
5 e +0.005 |+ 0.003 +0.020 0.010 2 4 ggoso 02 29 2 2n
300 300 270 270
Mp My Mr
P ‘ P | A~
= T ‘ ‘ Imr !
R >
\ = sHErEEEl A8
I I
===
@ SHFRE
TRIRIRAE BB
| AT ) e i | EABEEAY| EABEEAY RHEIE
R *;gi oM (’Ef*-’ﬂ) el sl S N TP M) My ] EBMaNm)
B |imm) MM N (N} SBEEA [ SBEES SBEEA |7BEES [BEEA [SBEEA:|SREES: SBEES: | SBEEA| TREEA| SREES: | SREES:| FREEA| SBEEA:| SREES | SREES:
KIS0 | imdf | o , 1813 | 2910 | goo7 | _ |12016| — | 116|545 | — | — | 116|545 | — | — | 222 | 444 | = -
KIC50 | w524 2136 | 3489
T R - B |- | DUEREL- | BERE |- | RESSE |- | BEEEIEEE | - | SRER/REHEEE
@ KT50 —| 0802 |~ L150 - B1 - P - F1 - s1
KTC50 |=| o802 1150 |~ B1 - P - F1 - s1
L | 1~5 | 5~
Discount: | 100% |§§ﬁ'ﬂﬂ




KT 2H
KT604m 3% 71

At b
mEE/AEE
B N RERIBAR| JBEE JREE BiEE EF
mEe | cma 00| R wp RE |(ME | BE | o | REAS| MA FARE
TR ~ : [ T
60 | 510 |44 &4 |58~62HRC | mas| ™ mas| &
KT60 KTC60 e g il o Fizh=y = fizks =
82
54
2x2-M2.6x0.45Px6 DP 30 4-M5x0.8Px8 DP
2x2-M2.6x0.45Px6 DP | 4-M5x0.8Px8 DP.
6 2xm-M2.6x0.45Px4 DP T‘B’\ 2xn-05.5 THRU,@9.5x4.7 DP
74
64
T ©
o ‘ W ‘ ‘ 1 B
© ) v | g
~ m? '\#ﬂ ‘ “%‘ @“’\W”f =7 [Pttty et el oot
A DL 5 o 5
3o _[1g] ! K G
60 @ (m-1)xK
SECTION A-A oL
L1
59
4-M4x0.7Px8 DP 185 _ 305
155,
=9
i \Q :
I ; |5
e —— 2 e | R =VIEWB
a i Q
7777777777777777 (=3 S
L =A 100 =
(n-1)x100 G Q|
2 o | 0BE o EiEEE B leew BATR |@aE/ERko | 2¥E/E8K)
6 ’% e A S o G n K
0 RIIE |e#k | REL & wlaid gy |© BRAN/ZERERE g g | U " lenelene] maalean | maslens
5
1205 | 150 1220(2 | 2 [10 | 2 | 60 15 1.7
1210 - . R
:;(])g 200 ; gﬁﬁéﬁﬁm) o] 270 210 | 2110 1.8 2.1
KT40 1205 | o0 BI(VE) | c(E@H) | f3 ST (R BRI SX671) %370 3020 | 2 |210/135| 2.4 | 2.7 | 2.7 | 3.0
KTC60 F4 S2(HBR#IE SX674) 12
1210 B2(2(A) | P(5at
1205 () | PURESR) | ps S3(EIREUE GX-F12A) 15 1 470(5 | 4|10 4|310|235| 3 |33|33]36
20 400 F6 SA(HEFRENE GX-F12A-P) 10
T %570 5120 | 3/410/335| 3.6 | 3.9 | 3.9 | 4.2
1210 | 00 5
s g1 670 610 | 6 |510/435| 4.2 | 4.6 | 4.6 | 5.0
1210 | 60 20| 670 610 | 6 |510/435| 4.2 | 4.6 | 4.6 | 5.0

EXPEREAFERE



KT1=4H

KT60#RAEHL

mzE

W\ ASZ

B/ %S

@ FEREIR/ R RBER TR

SO(#m FRER 1)
. 8
o ‘ 4.2 ‘
—
58
S2(1BFRENTESX674) e

S1(1BPRENIE SX671)

S3(HEFRENIE GX-F12A)
S4(HERENIE GXF12A-P)

EL 1B PR B B 22 e HUE e f i i
S1 (HEBRELE SX671) 8 " i -
KTC60 S2(HBRENIESX674) 3.2
S3(#BREE CX-F12A) i - , ;
S4(FEFREE GXF12A-P)
@ BFEER
=55 PUERE ENERME ENAEE TEFRTE AR (N-cm)
o L2 R ARED EES | HER B | MR EBAR | W
150
KT60 5,88 0008 008 0.020 0.010 . .
*0. *0. - -
KTC60 400
288 0.025 0.015
@ 5KEE
w5 | RuEE | ke EEmm/se
- wig (mm)| L (mm)| ZBR| R
150
200
05 300 | 390 | 550 ‘/M"\ /MY\ ‘/M_R\
400 T T ‘\ \‘
500 A
4|4 | & N>
= EHErREE &2
150 | [T 1 |
200 ’@ EARAKS 3@
10 300 | 790 | 1100 ‘ |
400
500
600 | 670 | 670
@ SHFRE
TRIRIRIE ARIEBL
NE |, = = BHFNE
o (% E ERTE AT | EABEEARN
RN Eg SME (g*ﬁ i N) (N) TATMP (N-m) RRMyN-m) EREMa ()
B Jimm) MM i) (N [5BEEA [5BEES [SBEEA [BHES |meA [meac|mes |mms: mmanmad mms | mms mma [ mead mes | s
BB 1| 5 [3877 15625 y5550| 7173 | 21462| 11574| 152 | 760 | 72 |362 [ 152 | 760 | 72 |67 | 419 | 838 | 241 | 482
KT60 | 4k 3744 | 6243
KTC60 | Bk 12 10 2107 3234
SEa a10 3743 | 13230| 7173 | 21462| 11574| 152 | 760 | 72 362 | 152 | 760 | 72 |367 | 419 | 838 | 241 | 482
SBR[ nEREL- | BERE - | BESH| - BIEEETENEE | - | BRE/RERNERE
T REf - 1205 |- L150 - B1 - P - F1 - 51
- [ 1205 |- [ L150 - B1 - P - F1 - s1
| 1~5 5~
100% | Bf7HE




KT1=4H

KT86 & ! AR AEHY

[y e P i 2
mEE/AEE
751 sors| g AR A EE BEXE wE
mEs | sma [0 BE | wp | RE (WA | BE | HE | mAhE WA [RERE
1AMk . - Z2@ Jo=Fc:)
86 || 10, 20 |&44:40 |4440| 58~62HRC | 85 |as| ™~
KT86 KTC86 EiEm repcor A=k RS e e HE =
116
75
4-M2.6x0.45Px6 DP 46 4-M6x1Px12 DP
112 2xm-M2.6x0.45Px4 DP V‘g" 2xn-@6.6 THRU,011x6 DP
L ¥
100 L
90
| i
4 : 4 § jE{ 8
S 7=l A -
7 SNCEL] [&e vo]
6 Las _l20],] 200 75
86 < (m-1)x200 H
SECTION A-A
87
4-M5x0.8Px10 DP 23 28 50 ~
P.C.D.70 13 <
L'—' ‘ - maa 8
o I T
: .
# L : : 52
o| w ${ 8 1 - 3 Hflq}'z ~ ,ijnf ,,,,, E[, —— g S|=-VIEw B
o i S
i (© i iy | e o e teteleinintetelettt [
T L L=A 100 a5
P.C.D. 60 T (n-1)x100 70 }
VIEW B oL
L1
LEN ol | @BE | oEit e B |ep BATEE | WEB/ERK|| AHA/ERK)
o 7B [omi | Rml| sm |CTE 0| sy 0 ERMN/RENEES walie | U | | " | " [meelene meens | aaE waE
10
1510 440|70| 3 | 2 |216.5/1085 5.7 | 6.5 | 6.5 | 7.3
1520 | 0 20
1510 | 440 Fl B () ;8 540|20| 4 316.5/208.5| 6.9 | 7.7 | 7.8 | 8.6
1520 . F2 SO(RAHBIRENIE)
K186 [ 1510 BI(fE) | c(E@R) | p3 ST (R E3E SX671) 10 8
KTC86 540 640| 70| 5 416.5/308.5 8.0 | 8.8 | 9.0 | 9.8
1520 B2(2f) | Pl | Fo S2{IRRE SROTA) 20
0 ’ F5 S3(HBRREE GX-F12A) e
o] 0 F6 SA4(HERBAE GX-F12A-P) 201 740|20| 6 516.5/408.5) 9.2 |10.0(10.3|11.3
1510 10 4
TE50 ] 740 20| 840 7 616.5/508.5/ 10.4 | 11.2| 11.6| 12.4
1510 0 70
1520 | 940 20[1040 9 | 5 (816.5708.5)11.6|12.4( 13.0| 13.8




KT1=4H

KT86 & 51| 1R AEHY o

@ R/ REPUER TR

SO (1B pRENIH) .
g | 4.2 |
—
o
58
S2(1BFRENIESX674)

S1(#EBRELIE SX671)

S3(1ERENE GX-F12A)
S4(HEBRELE GXF12A-P)

R TR BB 2 S B e f i j
S (HBFRENIE SX671) 8 18 R R
e S2BIR#IESX674) 3
S3(HBPRELIE GX-F12A) _ _ |
S4(fBBRENIE GXF12A-P) 1 3
@ EESR
=55 PUERE ENERME ENAEE TEFTE BARENA S (N-cm)
7 L2 HER | BER HER BB HELR | B B | BB
340
KT86 ‘5138 0.025 0.015 15
e o1 +0.005 +0.003 - - 10
740 0.030 0.020 17
940 0.040 0.030 25
@ ZTREE
=575 HHIRR | BUERE | EE(mm/sec)
- B (mm)| L2 (mm) | FER | BBER
340
440 Mp My Mg
10 540 520 | 740 P ‘ P ‘ P
640 —e T T ‘
e S
E?CZG 940 | 430 | 610 L o = - HEHE=} "“‘
340 &6 o]
== =1
20 540 | 1050 | 1480 \ \
640
740
940 870 | 1220
@ SHRRK
TRIRIZAT BRIEBEL
) B | oo SR B | AR A RERNIE
R | B |shig s S A ) VPN ] ) I ()
A (mm) [(MM () (N) [5BEEA SBEES [JBEEA SBEES [BEA BEA: BES SRES: |BEA MEA BES BES|REA BEA BES RES
LER 10 6429 | 11387
K186 BER 15 7144 | 12642
KIC8s |zmam s | g0 |4175 | eee 31458| 21051| 50764 | 29475| 662 [3050 | 228 1309 | 622 [3050| 228 |1309| 1507|3014 | 847 |1694
BER 4645 | 7655
o RIEE |- | B |- | UEREL - | BENE - | BEZSSE |- BiEEET ARE | - | RN/ RERNERE
/ Egi‘“ B KT86 |-| 1510 |- | L340 - B2 - P - F1 - s1
S—: reer KTC86 |—| 1510 - L440 - B2 - P - F1 - S1
Eb o % B | 1~5 | 5~
Discount JET-SE" | 100% |5ﬁﬁﬂ




KT154H
KT100 55 A3 51 .

=/ omEE

/\\\F'R.m:l.

730 L R RE BEXE WE
mEs | ame |00 PR we RE | HE | BE | ME |SAAE HE |RERE
Gl - Z2@ fo=Fc)
U120 |854HE |48 58~62HRC | EAS| T mas| &
KT100 KIC100 | 100 | g5 &8 &2 Fizhsy IR $8E =
1426
95
4-M3x0.5Px6 DP 50 4-M8x1.25Px15 DP
124 2xm-M2.6x0.45Px4 DP 2xn-09 THRU,014x8.5 DP
110
95 -
| i
i ; v ]E%ﬁ
[=) 7 |
<t - v w—i
50 |25
100 (M-1)x200 H
SECTION A-A
9
4-M5x0.8Px10 DP R -
P.C.D. 70 15, &
= | TiT TiT nkal g
= ° x - ER
S | ‘ L w ) So
Mo 1l () e— e | — e 1) o 1 S
[N 1 &
i 8 = & A | i e | et s e ettt =T - L
- A A s
VIEW B (n-1)x150 G
oL
L1
Eilbay o | OBE | 0 Bz e s PR 1t | g |y BAITIZ |BlE/E8 (ko) AEHE/ER(d
o Foim |omm | mEL| sE TPy O MR/ RERERE W] 9 [ REL " | ™ [nE]wan| nhe | ene wRE[RE
o 1089/40|90| 7 | 5 |828/700|18.6|20.3|20.4| 22.1
1080 TR (%) 1189 15| 40 928|800/ 20.3|22.0|22.2|23.9
SO(R B HBPREIE) 8|6
B1(1 5 ;
knoo | 2020 [T ) BHIRD C(Ef% o ) 20| 20|1289 65|90 1028/900| 22.0 | 23.7| 24.0 | 25.7
B2(2fE) | PUREER) | po S3(HEIRHE GX-F12A)
1280 S4(HEIRHE GX-F12A-P) 1389(40|40| 9 | [1128/1000 23.6 | 25.3|25.7|27.4
7
1380 1489/15|90|10| [1228/1100 25.3|27.0|27.5|29.2




KT1<4H

Girlpy=

=

lJ

KTT00&7%1.

VALY le//\ﬁl%ﬁ%ni\;-.

@ TEIRFER/ZENER
SO (1B FRENE)
8
o]
S ‘ 42 |
—
N
0| Q
58
S2 (HBPRENIE SX674)

S1( HBREUE SX671)

S3(HBRENIE GX-F12A)
S4(HERRENE GX-F12A-P)

RIS

15 BRI B Z B a b ® d g h
S1(1BIRHE SX671) 71 84 1 2 _ i
KTI100 S2(1BIRENIE SX674) 66 73
S3(HEpR#1E GX-F12A) R
S4(HEIRBLIE GXF12A-P) 64.5 15
@ EEZH
R5iE PUERE EfEHIE ERCEE FTERATE BARENH A (N-cm)
e L2 LiBELR TBER LBk |k TR 2R LiELR B
980
1080 +0.01 | £0.005 - +0.035 - £0.25 12 17
AT 1180 £0.01 | %0.005 - 0.040 - £0.03 12 20
1280 +0.01 +0.005 - +0.045 - +0.035 15 23
1380 +0.01 | %0.005 — +0.05 _ +0.04 15 25
@ ZREE
BEEE | BuERE | EE(mm/sec)
A% |y (mm)| Lo (mm) [Boms | mE P Py P
980 | 800 [1120 T ‘
1080 | 800 | 980 ~ToTo S}
o | o0 | 195015001 %50 - EHRFEEE A2
1280 | 630 | 630 V= s, = I
3¢5 [0
1380 | 530 | 530 ‘@ * @‘
@ sHRg
RERIRE BIEEH
e | 2B - ; BRBNE
i o |5 s EATEE AN | RABEEAN
R E% i (f*;) s o i ) I ) Vo]
T2 [(mm) N | IN A semEs [BEA BES [mea mmae|mms s |mma mma mms | s mea | mea mes | wEs
KT100 |Z@4% 20 | 20 4782 | 9163
KTC100 [EZzg 7046 [12544 38200 — [63406| — | 960 |4763| — | — | 960 |4763| — | — |2205|4410| — | —
. ZAEE || B |- | UEREL - | BEHE |- | BEZSH |- BEEETEEE | - | WRMAR/REDERE
/ Pdr;ﬁer KT100 |-| 2020 |- L980 |- B2 - P - 1 - S1
— KTC100 |-| 2020 |- L1180 |- B2 - P - F1 - st
Cb e % B | 1~5 | 5~
Discount JETE™ | 100% |?:ﬁ§ﬂ




551 R B IS 1= E 2470

[ J
KT30

SSIEREFO "
115 25
13
10| 175 2 29.6

4-@3 THRU

©

@20:5%

9.5

J3h6

6.75

05_|_
N
N

2.75

HEEEARF] 44

e Y0
33{4
A\L 8
/
Pl
‘ S
&

+0.03

Lp=—-F
@17
@209

28
-

0

QO

50 \

4-M2.6x5 DP
P.C.D. 33
s N b Sk 44 5
BiEE F2
B ERE AT TE o5 3
1
SER
Q &
® N

4-033.5 THRU,06x3.5 DP

P.C.D. 28
BIEEREEAES 44 6
11.5 25 ‘ ‘ 2
R |
Bin b

17
| @22:803 |
28

4-3 THRU,@5x3 DP\




55y Rk B R 1 18

KT40

EPNE

3% BEFO

4h7

|

T

1
|
|
|
|
|
|
|
|
l
0
0420 +0. 03‘
13
0.5

PCD29  4-M3x0.5Px6DP
]
~N
<1 =)
= [ T
FARTAGH
@ )

¥ p——

49 8.5 4-M4x0.7Px8.5DP ,PCD46
\ \ AN =11 s
B E R AR ‘ ‘ | .
\7 \L L 3778 0‘\0
=lef gk —
— - N .
— ‘ ¥
49 8.5 32 4-M3x0.5Px8.5DP PCD45
B E A2 i
\7 \:7 o 7377[8 B}
i ICEE
TT ,,,,,,, ___ - ,377
JESpERE R =5 NG o) 49 7 31
25 ‘ 4-@35Thru,
‘ @6x3.5DP
: i 9 r
ST e 4-M3x0.5P Thru
]'_W‘DT &1l ] | R E;\T S oo _
H IR EEEEE k g
D TET ,,,,,,, I ¢ o)
BN
I
12 145
=
SIEEREHO [ e
8 |
— ]\ |
M~ ™
S % |~
8 1

o
96%6’
0.5



I%i\%}.a:z. /\I%i%i%?%ii

o
KT50

60
14 34
s 16.5 4-M3x0. 5Px6 DP
%PEF:EFO 10 P.C.D. 33
i e
B S Lo
# T — % GL \{}
S « © \ / o
1 ------4 P — & oo Gé?
0~
<
S o
S
A==\ -e—::l:*
JSShESE RN 60 8.5
14 34 3.2
16.5 4-M4x0. 7Px8.5 DP
0 P.C.D. 46
i
U] I = 1
A N | S
—1 S T T 4
T (=)
— | o
7777777 F-t 1 =
— =
<=
Lo
=2
60 8.5
(IR ERY =z 34 14 34 3.2
BiEEE A2 % 5 4-\3x0. 5Px8. 5 DP
0 P.C.D. 45
rrt F
(1] __ 1 I - 1 (; N S °
* N I 3 o
=10 — = 2 < 4 i '
! 2 « oi ¢
mmnnn A L1 ] © } .
d 14, @ O &
— =
=
Lo Lo
= “
o
60 7
14 34
ssi N 4R7 3 BE 4-03.5 THRU
BEERELARRS 16.5 4(‘;’14 06x3.5 DP
T — : s
i LT R

I s
LHJ
|
‘ J
T
022 19
40
‘Q‘
|
0‘
5
3

— b = Pt
: I
B2 1% [E 7E FEHO 144T<§.5 4392-4 4-M3x0.5Px8DP
10 {——-“ ‘/
‘ - < <
31 | fodx
— Wl N

@5h7
05|



\\\;

KT60

= JiE B R i A

F5 12 EEFO

59
18.5 30.5
15.5
9
T
~q° NIRE
=T
Z
:l:\ .—\—-\ ——
B E AR
59 10
18.5  30.5 3.5
15.5
9
ﬂu ‘ 1‘ I 8
| 0l Se
4 Eﬂ— N
IR =2
— = =
g

EEEE

59 10

BF2

18.5 30.5

3.5

5.5

026. 5

+0. 05
0

030

L

06h7

4-M4x0. 7Px8 DP
P.C.D. 40

;
3

S
N/ o
qu/o
W,

4-M4x0. 7Px10 DP

P.C.D. 46

»l”ﬁ
;ﬂwﬁﬁﬂé
g‘ D12

4-M3x0. 5Px10 DP
P.C.D. 45

N/
3 s 17
3 B B
-
S
u?‘ 4-M3x0. 5Px8 DP
S

44.5

—

I o

B2 1% [E & FEHO

18 16

15
s

i

230h8

@6h7

59.6
33 4-M4x0.7Px15DP
— }

]

445

23

16.5

v
o)

OFF

S

HBEEREAWS
59 10
18.5 30.5 3

036 15 %

L
‘ €
T
|
|
J
1
-
026. 5
0. 0!
0

l
06h7

BiEEEIARF4

59 10
18.5 30.5 3

5.5

[T ]

4-M5x0. 8Px10 DP

4-M4x0. 7Px10 DP

| )
® )
@@s
| &
:
47. 14 ‘

4jﬂ£7 E:k: AA? i g ;’ ) \ o1
N I i . = ‘ 47.14 ‘
§ 057.7
EERARFS
59 8
18.5 _30.5 5.6
5.5 31
| -

. : Y [ &
TElh L@
— [ A — A ”l fleo [ 9&—

il — .ﬂ‘ 4-03.4 THRU
g : 06x4 DP
B2 4 [E] T BEH 1
18 __16 59.6
5 ‘ . 4-Mdx0.7Px15DP
B iy
‘ g /
ﬂ, ‘% 2 N
jaﬂg i o 1%
] %‘ N Olﬁ@ ¢+¢ @ ;
S




KT86

SIEIE DA

FSEREFO

4-M4x0.7Px8DP

87
23 50
28
18 =
1 ©
v i
I ")
%— L tgee
— L —1——1T T (Yo
N
| S
—_— L -
Il

BIEEREA

BF1

87 10
23 50
28
A8
ﬂv — ] :
| 3
77777 ©|3e| o
— {H= || ke
| Qv
I QD

BiEEEIARF2

87 8
23 50
28
8 |
o —H
i, S SN
( — '] &ls3
— L -
Ao A _\_\:I:—l—l—-
BiEER AR
87 8
23 50
28
18|
y .
ﬂ , S Iy S| ©f N
—— | 1 _ LE2 & ©
— 11885
—| L -

30°
;\9{
N
R\
=

32
,OQ/&‘,

63

LN@) }
ZT =
PCD70
PCD60 4-M5x0.8Px10DP
85
fm
|
|
7
v |
4-M4x0.7Px8DP
85
/\
//;J:\E .
o
R I 3
(S @ / -
PR
Rl 2 S 9 i
PCD46 |
4-M4x0.7Px8DP
85
[52]
©

&
e

45\0»«/@

31

4-M3x0.5Px8DP

BIEEEOLR

F4

o
(L
]

A
246

270°3%
Clso

h 3.5
BEEEOLRFS

PCD90
4-M5x0.8Px10DP

87 8

23 50 85
28 50
‘1_. /\

’@J L‘ ’\‘.‘»/ \\%
— (115 3 &
= O
I B I ] & | s

iR O e 6, i
4-M4x0.7PX8DP  ~|
[N 27 3 2l
JiEERSAmP6
85

| 47.14 |

¢ ’i\s
o 2 > I g
O 5 o C
@) 2l i

23_ 28
20 18
13

N

==
4-M4x0.7Px8DP

4-M5x0.8Px12DP

64

32




55 15 JEE BA RS = 1B A

[ ]
KT100

i REFO BIEERAMFS

94
21__ 45
N 94 12
32 99 +82
‘ 4-M5x0. 8Px10 DP 2.5 4-M6x1Px12 DP 70
2 P.C.D. 70 75

012h7

[2] C

I
[ G
=]
[
‘ I
il
050 19-%1
20|
72
32
fﬁ\\{’é
h\ 4/“ <
45
(=
I
i
| d
‘ I
\
I
I
o
046
060 9%
72
32
Y
70

bl

f

[N 2z 34 ‘='=‘ AN uf
BiEER LRI B L4
94 12 4-M6x1Px12 DP “ 94 19 6;’8?8
3.5 P.C.D.90 . 2.5 4-M6x1Px12DP r—.‘-b
= I
HE L 5 MK L B - ®
- 0 | =3
| < I~ So
|! w7 Q £ L ~ 2
- g e = TR e i g
— - 1 U s o *i S — — | o o L ) o
K : N L S e o)

BRI E R A RAF2 5 3 [E F FEHO

94 2 59 0
3 s 4-M5x0. 8Px12 DP
16 22 7

‘ : P.C.D.90 - 80 e e 88.5

|
I
u
i
I
R
‘ 946
o70 9%
72

32

L
=T |:l‘
72
57
32
1
|

012h7




K5
KN Wz T\ 12 2H

Built-in Linear Guide Ball-Screw
Series




KI5

KN4 - L10 - S100 M2 - M100W - B

BISE gi2 BELR BEREMELS U

Model Lead S’rroke Motor direction  Motor brand and output Brake

| —

|
M2 EEINE Motor outside position ,\)i\ ? Q%Mﬁrlsirg;:s

M3 EiESNE H1H Motor ou’rs?de rightward pos?’r?on Y 22)I| Yaskawa
M4 EESNE Z {8l Motor outside , leftward position #AT Panasonic
Mé EIEINE T J3 Motor outside lower position -

7/

P
—_— .
F E.'='3:£ Fuji =
A =3
T 3% Delta z
—
<
Q
KN4#R#% 3= (KN4 S ificafi 3
Hi% pecification 8
&
B g
! 1%
AC Servo motor output(W) 1 OOW @)
()
. } 3
BEEMNBEE +0.0]
Repeatability (mm) -
RIRIZIRIME @10
B.S@
i R IKFREEHER: BALUnit:mm MEEREHERA: BAUnitmm EHLRERER: BfUnitmm
7&%&%*%@*5 2 5 ]O %mzor\kﬂu% - - - éullms?—;\.}cgnuse - - - gnngv;gg\ use - - -
= P;y\oud 0 45 90 =2 Pcny\ocd 0 45 90 je P;yloud 0 45 90
Lead(mm)
= 12kg 80 505 | 1000 I 12kg 1000 | 70 80 = 4kg 200 165 | 200
\ 18k €55 18k 42 8k
B 100 | 250 | 500 | Pretafemiitaetmiateliiso bu s b
Maximum speed(mm/sec) —| 10kg | 70 | 270 | 550 || 10kg | 550 | 58 | 72 || 3kg 200 | 165 | 200
K g 15kg | 45 | 187 3so§ 15kg | 345 | 36 45§ 5kg | 120 | 85 | 120
TKM- 20kg 31 140 | 250 20kg 250 21 31 - - - -
= N :FH FH 25 20 ]2 o 8kg 75 | 130 | 305 |5| 8kg 300 | 60 | 75 |g| 1.5kg | 350 | 266 | 350
RAHE (H) S| 10kg [ 57 [ 115 [ 240 |a T0kg | 240 | 44 | 58 |a] 2kg | 260 | 190 [ 260
Maximum ©| 12kg 47 90 | 195 |°| 12kg 190 | 35 47 |° - - - -
payload(kg)
EEMA| g 5 2 * SR SR AL BB O O R (2
(v) Distance center of slider top to center of gravity of obJecf being
gﬁﬁﬂ:—?& jj fransported (For reference only)
HEATaRRE (83422:N.m) ( Unit:N.m)
Rated thrust(N) 424 ] 4 ] 7 ] Staticel_oading V\;oient 7}?3;1%?!9% Static Loading Moment
712 100-800 MY &
Stroke(mm) 50/k® (intervel) MP 79
N MR
B RERE S 16

This model suggest not be used as load axis of multi axes.




L=(H34{TI2E ective stroke+294)

SBEEREL134 HiTieEffective stroke 80
A e 90
[y Jases AR5
- 5. A E oJ=2[0 5 5 5 5 ——=
)| @ 9| 1

@
LB G - e T
2037 4507
[ a ]
35
. T
- ] [
Ee) ] L=
89 M*100 A 50
= 5 ‘z-mmm y o ol
:_»: rﬂ) % lﬁl % NMIT10+A3. 4 fl. ] ] ) Fﬁﬁ
5 = = T |3
= 1l o o o o
GZ) ‘Lg;‘l‘ilﬁ‘ B 89 10040.02 P ¢~
c.
(o}
0]
los)
2
r‘u; 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
f;D L 264 314 364 414 464 514 564 614 664 714 764 814 864 914 964 1014
A 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
E&(kg)| 095 1.12 1.29 1.47 1.65 1.83 201 2.19 2.37 2.55 2.73 291 3.09 327 3.45 3.63

XANBZEEFIRIR IR » FARSITiEA %Drawings and specifications are subject to change without prior notice.

L= (B iTi2E fective stroke+294)

\ JBEEIRER116 B iTReEfective stroke 80
90
M 3 e £ A0 AR5 E
< ié ©
<t ® || ®
< - ©
=1
4-M479.5
2-@3¥4. 5HT
&I 4]
#
In
= : . ==
@ ﬂ m = D e 9%
® lo o
St
71 M*100 A
_ ) i
B  — 50
2| s ]
So [T T 2 04TAIT N-MAT10+ 88, 437, =
N ® o B |4
| B = + g ¥
- : =% :r:.'
R B 1 4 + ° & + i C-C
e 71 100+0.02 P o~ SRR

L 246 296 346 396 446 496 546 596 646 696 746 796 846 896 946 996
A 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
EE(kg)| 1.04 1.22 1.40 1.58 1.76 1.94 2.12 2.30 2.48 2.66 2.84 3.02 3.20 3.38 3.56 3.74

XARNRZHEERK RS - ZMRBIT54) xDrawings and specifications are subject to change without prior notice.




AIER 2541

BRG] + 1 90
RERETS | Tk fective stroke 80

L=(f{TigE fective stroke+294)

43
— ] o

<l | b o~ S T

] CE
2] e

71 M*100 A 50
E 2-04% AT (=
s 5 & i3] i SIE]
z e = = =
o o o o

N-M4T10+0 3. 437l

Jabi

il B
1

il C-C
w11

%
o
T ﬂ‘
.
36
44

1 100+0.02 P

A
X
Et
iR
7
|
B
iR
03
@
s
é.
<
©
<
Q
(0]
lve]
Q
%
0
S
2

L 246 296 346 396 446 496 546 596 646 696 746 796 846 896 946 996
A 29 5] 25 79 25 75 25 79 29 75, 29 75 25 78 29 78
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
E82(kal| 1.04 1.22 1.40 1.58 1.76 1.94 2.12 2.30 2.48 2.66 2.84 3.02 3.20 3.38 3.56 3.74

XANAZE BTG » ASITHA] %Drawings and specifications are subject to change without prior notice.

L= #4TizE fective siroke+294)

BIERE116 HTiEEffective stroke 80
[0
EIRREIRC 3 0 SR 25

W4T9.5

2-A3 ¥4, 5HT
L p— ] 1]
" == = ol | o
‘ . o o
LM
]
9
z 171 M*100 A 50
g S 244 F‘é« 438
BN .
o o o o
i‘é“"w‘m‘ B NAUTI04. 4317l o<l 22£0.0
blz:1 171 P il C-C
Bl 11

L 246 296 346 396 446 496 546 596 646 696 746 796 846 896 946 996
A 25 75 25 75 25 75 25 75 25 75 25 75 25 75 25 75
M 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
P 25 75 125 175 225 275 325 375 425 475 525 575 625 675 725 775
E&(kg)| 1.04 1.22 1.40 1.58 1.76 1.94 2.12 2.30 2.48 2.66 2.84 3.02 3.20 3.38 3.56 3.74

XARNBZEBFIRK 2R » 7RSS 1TH#H] *Drawings and specifications are subject to change without prior notice.




Mmens-Ipg epind WiuHing kSEEE | - Jde S S

KI5

KN5-L10-S100- M2- M100W -B

ES B2 (PEES BiERO R R R=E
Model Lead Stroke Motor direction Mofor brand and output Brake
| . Siemens
M2 BEINE Motor outside position X @Ej¥ . o
s L . M=% Mitsubishi
M3 EiESNE A H| Motor outside rightward position =
- . . Y &Il Yaskawa
M4 EESNE ZE | Motor outside , left ward position p #AT Panasonic
Mé BEIEINE T /5 Motor outside lower position -
FEL Fuji
T §i% Delta
KN5##& 3% (KN5 Specification)
BiELN
AC Servo motor output(W) ] OOW
BEEMBE +0.0] S 0
Repeatability(mm) -
e LN 212
BS(@)
pe=1 =h=g=
/ﬂ%i%*?%*i 5 ] O 7)<$§¥KFFE] B {Unit:mm I i F - BRI Unit:mm E B {Unit:mm
Lead(mm) L D Lgun
Py al B 3(;‘(') T 6(());) | 90t 2] 6(;; 45| 90°
H—“ L"* o Skg 260 | 600 |5| Skg 210 | 183 |o 1kg 260 | 580
vasmom speeaimmisec) | 220 500 8 oo D onli oo Dot s il w Lol
KA 30 15 8o 2301 170 30|18l e |30 19| 50 |B e T 258 1501 958
. a1 30k 110 [ 60 [ 150 |9 30k 100 | 76 | 60 [< 10k 100 | 76 | 100
BowE - F%Z O EE ) E E’]gE BE(EHSE) g
Maximum *BEERE RO Nz ol 2
payload(kg) ﬁEﬁEﬁﬁ 10 5 D'Ei!sfonce center of slider fop fo center of gravity of object being
(v) transported (For reference only)
FEEHED BEAHRNEE (BN m) ( Unit:N.m)
Rated thrust(N) 327 163 Sz‘“ciadi"g Moment JKF{EFARF Static Loading Moment
g 100-800 MY 100
Stroke (mm) 50fPg (intervel) MP ]OO
RIS R S ViR T
This model suggest not be used as load axis of multi axes.




AMSA1 2BHT
— BlorEdord]
[ ll
= Eleflore) —
H
118
L=(ExTitffective stroke+ 219 )
v 139.5 | RitR) Hijiriekiiective sfroke p—
‘L P
° o —— n e
e |Em—
o o 23] ———
REiEESB . ) .
955 100£0.02
% I O 0
4 : il
— - 5 -
N-M31224.3THR 2547

250 300 350 400 450 500 550
L 319 | 369 | 419 | 469 | 519 | 569 | 619 | 669 | 719 | 769 | 819 | 869 | 919 | 969 | 1019
A 75 | 25 | 75 | 25 |75 | 25 |75 | 25 |75 | 25 | /5 | 256 | 75 | 25 75
M 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 8 8 10 [ 10 |12 |12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 20
EzE£(kg) 24 |26 |28 |30 |32 |34 36 |38 4 | 42 | 44 | 46 | 48 5 52

XANBZHEBRE RS

RSB ITEA >Drawings and specifications are subject to change without prior notice.

== JAE\" %‘:
L=(F#iTietffecive stoke+ 199.5 )
a5 119.79| EitiGE) Hif7istffective stroke 79.5| BRiER)
)
e
: Eﬁﬁg ] ==
E%K?EB M1 204 3THR
. 4 B 755 105002 M’*:? i
772 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
L 299.5/349.5/399.5/449.5|499.5 549.5|599.5649.5|699.5 749.5|799.5/849.5/899.5/949.5| 999.5
A 75 | 25 |75 | 25 | 75 | 25 | 75 | 25 |75 | 25 |75 | 25 | 75 | 25 | 75
M 1 2 2 3 3 4 4 5 5 ) 6 7 7 8 8
N 6 8 8 10 10 | 12 12 14 14 16 16 18 18 20 | 20
B=£kg) 26 |28 |30 |32 |34 36 |38 4 42 | 44 | 46 | 48 5 52 | 54

XARNBZHEERK RS - 79 RSB 17484 *Drawings and specifications are subject to change without prior notice.

X

o

5
@
c
Lz
z
@
c
s
]
@
Q
&
Q
0]
.3




M4 =
-"; = B
N L] \ —
-E-f%\\ w”
Et L=(gH5EE ective stoke+ 199.5)
E/ 3 i. 119.79 | BRfR) Fifiitftective stroke 79.5 (BREE)
*lei [ H ‘w T le E y
ﬁ 755 1002002 o | . ‘ <
= FEsiREs - SIS . AL
Iz ’ 1
5 A @ § A — :
W ) 2547 N1 24.3THR
z Ao -
=+ | | [ F——
T
z
8 712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
Q
D
> L 299.5|349.5|399.5|449.5|1499.5/549.5/599.5649.5/699.5749.5| 799.5/849.5|899.5949.5| 999.5
Q
& A 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75 | 25 | 75
o
z M 1l 223 3| 4 4|5 |5 6|6 77 8 8
N 6 8 8 |10 |10 [ 12 [ 12 |14 |14 |16 | 16 | 18 | 18 | 20 | 20
g82(k) 26 |28 |30 |32 |34 36 38 | 4 |42 | 44 | 46|48 | 5 |52 | 54

XANBZEHEB BRI TR » LRBIT3B4E] *Drawings and specifications are subject to change without prior notice.

=1 %@'@—hn = ‘
=l o[=]0) T = ——©C 0
M 6 bl ‘ 5 2BH]| h ‘—‘ﬁ—’
) L=(f5Effective siroke+200 )
‘+‘ 120,5 #RfiR) ARfriEEffectivestroke 79.5(@ R
1 :éE [}
L s ="
— g
- —
1 E— |-
| I L[j
FEbREB L= lE I °
g [l—11 =
TA” M N-M51224.3THR/
4 175.5 M100 A Ei]
600 650
L 300 | 350 H 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000
A 75 25 | 75 25 |75 | 25 |75 | 25 |75 | 25 | 75 25 | 75 25 75
M 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8
N 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20
g8(ko) 26 |28 | 30 | 32 | 34 | 36 | 38 4 42 | 44 | 46 | 48 5 52 | 54

XARNBEZEBERK R » LIRS ITiE] *Drawings and specifications are subject to change without prior notice.




K5

KN8-L10-S100- M2- M200W -B

5% B 1772 BERME BERERE N FE
Model Lead S’rroke Motor direction Motor brand and output  Brake

| —

|
M2 BiESNE Motor outside position X ﬁFﬂ% Siemens

M3 EZESNE A 18] Motor outside rightward position M= :fl Mitsubishi
. i, Y ZJIl Yaskawa
M4 B EINE Z{B] Motor outside , left ward position P ¥ Panasonic
Mé EiESNE T F5 Motor outside lower position F ._é_.‘ FUii
=
T &3% Delta

KN8##& 3% (KN8 Specification)

AC Servo motor output(W)
Y5 = Ak 2y
BREMBE +0.01
Repeatability(mm) -
ARIRIARIME
BS D16 KFRERF: EfzUnit:mm FEERFEREM: ERUnitmm = B ZHEMER: ERUnitmm
B (@ ‘Honzomcl\ use .WGH installation use \Durmg vertical use
s pk iz ie e 2 HE | o | a0 [ BE | o | a5t | 900 [F] HE | o | 45| 900
PR 5 10 20 o _ékg [ 467390 [1180[5| kg | 760 | 423 | 386 || 25kg | 863 | 460 | 863
Lead(mm| & 9kg | 325|262 800 || kg | 542 | 290 | 234 |&[ - ===
o s S| 12kg | 238 [ 183 [ 595 |°| 12kg | 277 [ 180 | 159 |© > - - -
RIREE 250 | 500 | 1000 | |zl [ 415 293(1700/c| 10ka 1360|378 | 286 || Sk | 583 | 270 | 583
Maximum speed(mm/sec) 2| 20kg | 202 | 200 | 823 || 20kg | 794 | 173 | 136 8| &g 340 | 170 | 340
S| 30kg | 131|113 | 483 |2 30kg | 493 | 106 | 86 |° - - - -
IKE{EH _| 20kg | 302 | 283 [1532|| 20kg |1450| 214 | 153 | | 10kg | 361 | 245 | 361
o (H) 50 30 11 8 35kg | 146 | 136|882 |8 35%g | 845 113 | 81 8| 15kg | 234 | 156 | 234
BRAHE G| s0kg | 90 | 78 | 430 |%| sokg | 463 | 74 | 53 |o| - | - | - | -
Maximum
pavioadika) FEE{EM | 15 8 06 | TRERESLEMEMELNEREHSE
(v) : Distance center of slider top to center of gravity of objecf being
'A*E'_‘_'}}Ej] transported (For reference only)
A 685 340 176 FESTANER (BE4i:N.m) ( Unit:N.m)
Rated thrust(N) Static Loading Moment JKE{EMES Static Loading Moment
1712 100-1050 MY 320
Stroke (mm) 50Mf® (intervel) MP 320
B TR S WA ¢ MR 630
This model suggest not be used as load axis of multi axes.

MBIOS-I0g  SPIND W1 Ul-{ling




4Mbiz 7 206H7
— BleEderl
f 9 =
1] P]o[c]o[® )
B H
135
8l L=(53iEffective stroke+278)
‘ 5 ‘ 167 (E1ER) Higfrigffective stroke 111 (2R
| |
o P  — = oy
2 e i I
® o 5 =
o [ AR E—

RAPREB
M*100 A 80

g © 98 100+0.02
= S,x - L 205 r}lﬂl N-M6x1525.4THR
% & ({ZD b |
= 9 : 7 B -
Z 9 T 5| o
10) — o o i o o
& 7
s
o
z 1778 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050
('); L 378 | 428 | 478 | 528 | 578 | 628 | 678 | 728 | 778 | 828 | 878 | 928 | 978 (1028|1078 [1128 1178 |1228 {1278 1328
2 A 100 | 50 | 100 | 50 {100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 100 | 50 | 100 [ 50 | 100 | 50

M 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 | 10 11

N 6 8 8 10 | 10 | 12 [ 12 | 14 | 14 [ 16 | 16 | 18 [ 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26

E%(kg) 554591627 (6.64| 7 |7.37|7.73| 8.1 |8.46]8.83|9.19|9.56|9.92[10.29/10.65/11.02(11.38/11.75]12.11]12.48

XARNBZHEERK R » ZMRBIT3BH) *Drawings and specifications are subject to change without prior notice.

&\ és 20647
=l oEFo2] ==
o
B
Q orEle S - —
B 1
e
L= (%772 fective stroke+264.5)
8] 153.5(EERIER) HitfriEfechive siroke 111(ERER)
== ‘ ] i _
° 5 o
==
—
-
° T
BiREB , -
& 1ds

=l =l | Iy N
) T + ; T
f . 845 \001002 285 47 N-MX1526 4THR U

M100 A &

400 450 500 550 600 650 700 750 800 850 900 950 1000 1050

L 364.5 | 414.5 | 464.5| 514.5 | 564.5 | 614.5 | 664.5|714.5 | 764.5 | 814.5 | 864.5| 914.5|964.5 [1014.5/1064.5(1114.5/1164.5(1214.5(1264.5|1314.5
A 100 | 50 | 100 | 50 |100 | 50 |100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 |100 | 50 | 100 | 50 | 100 | 50
M 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10
N 4 6 6 8 8 |10 |10 |12 |12 |14 |14 |16 |16 |18 |18 | 20 |20 | 22 | 22 | 24
FEE(kg) | 56 612|664 | 706|768 | 82 |872 | 924 | 976 |10.28| 10.8 |11.32 | 11.84 | 12.36 | 12.88 | 13.4 | 13.92 | 14.44 | 1496 | 15.48

XANBZHEFIRR 2B » FARSB{TIBA] *Drawings and specifications are subject to change without prior notice.




156

L=(%3f7iaffective stroke+264.5)
BRTIatrectve siioke

— 153 S[EmaR) TIlEEER)

P
‘ =

SIE] A=

=

146

N 1526 4THR

BERED —i - |

"
i
=
2
1%
|
%
IR
5
lve]
c
%.
z
@
=
Q
[0}
g
&
Q
D
2

950 1000
L 364.5 | 414.5 | 464.5 | 514.5 | 564.5 | 614.5 | 664.5|714.5 |764.5|814.5 | 864.5 | 914.5 |964.5 [1014.5(1064.5[1114.5|1164.5|1214.5|1264.5|1314.5
A 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50 100 50
M 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 |10
N 4 6 [ 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24
E%(kg) 5.6 |6.12 | 664 | 716 | 7.68 | 82 | 872 | 924 |9.76 {10.28 | 10.8 |11.32|11.84 |12.36 |12.88 | 13.4 |13.92 | 14.44 | 14.96 | 15.48
XANTZEEB TR R » BDARSB{THE4E] %Drawings and specifications are subject to change without prior notice.
il = it [
Jt—._ Ele[ersl 4 — l
M}‘ 20547 v D
75
> L=(F37i8Eifective stroke+264.5)
Bl 153.5(@EeiEm) ERigkifective stroke 111 (EBER)
[— \ -
== Bo [
ﬂ K o EL_E W Sl =
. F— sem N ¥
: § i=—ma
| | le— ||
I
. =l
. 5 - ! 5 5
R EPR [E B
AEREE H — EE
- e — i 9 ks
§>< () 285 47 N 1526, 4THR
Ss 184 SBIEERER 120mmilpy MI00 A L

L 364.5| 414.5|464.5|514.5 | 564.5 | 614.5 | 664.5 |714.5 |764.5|814.5|864.5 | 914.5|964.5 [1014.51064.5(1114.51164.5|1214.5|1264.5(1314.5
A 100 50 | 100 50 | 100 50 | 100 50 | 100 50 | 100 50 | 100 50 | 100 50 | 100 50 | 100 50
M 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10
N 4 [ 6 8 8 10 10 12 12 14 14 16 16 18 18 20 20 22 22 24
E% (kg) 56 1612 [6.64 |7.16 |7.68 | 82 |872 |9.24 |9.76 |10.28| 10.8 |11.32|11.84 |12.36|12.88 | 13.4 |13.92 | 14.44 | 14.96 | 15.48

XERNBZHEERIG S -

A

FRB1T4BA] *Drawings and specifications are subject to change without prior notice.




KN12-L10-S100- M2- M400W -B

ES R 1T EERO BERELEN RE

Model Lead Stroke Motor direction  Motor brand and output Brake

’_1

X Siemens
M2 E_,f'_:ﬂ\ Motor outside position MEE—;—%M”SUUSN
M3 EIESNE A | Motor outside rightward position o

|- S SsS

5
1= ‘ N Y Z&JIl Yaskawa
i% M4 B5iE5NEB Z Al Motor outside , left ward position  p AT Panasonic
N . ey
N\
o Mé EESINE T F5 Motor outside lower position F=+4 Fuj
: T &3 Delta
z
@)
=
[} epe .
2 KN12#8# 3% (KN 12 Specification)
g
& EH
% AC Servo motor output(W) 4OOW .
E 90° 0
.Y A )
E@T’EL\L*’EJ—E‘_ + O O]
Repeatability(mm) -
BERIERIME a6 APRERM: BIUntmm | | BEREER: #izUnitmm %ﬁﬁﬁfiﬁmmmm
BS@ %;Pﬁ%d 90° | 45° | 0° ﬁfﬁ% 90° | 45° | ©0° ;%E%d 90° 0°
=1 =b=1
RIRIRIRETE 5 10 20 32 _|60ke|2850| 250 | 340 || _|s5ke| 280 | 280 |3300| | _|15kg| 1200 | 1200
Lead(mm) %80kg 2100 180 | 250 %75“ 200 | 195 2400 %ZZkg 820 | 820
=i 110kg|1500| 120 | 170 110kg| 130 | 125 [1550| | |33kg| 550 | 550
IR E d £ ¢
Maximum speed(mm/sec] 250 | 500 |1000 1600 - |30ke|2850] 490 | 600 || _|35k| 400 | 420 |2500| | _|10ks| 1600 | 1600
& |50kg|1700| 280 | 350 || & |55kg| 245 | 250 [1550] |2 |14kg| 1150 | 1150
7k5|21§ﬁ5] ]]O 88 40 30 osskg 950 | 140 | 190 osskg 150 [ 150 | 950 oZZkg 730 730
o .
B%ZE%? (H) |10k |3400|1250(1400|| _[12ke| 900 [1070[3000 | _| 7ke | 1800 | 1800
@ [0] @
payload(ka) |2 B {2 F 33 20 10 8 %ZZkg 1650/ 550 | 620 %20kg 550 | 630 |1800 % 10kg | 1250 | 1250
v 40kg| 900 | 290 | 330 40kg| 260 | 300 | 900 - - -
N _|15kg[1100| 570 | 550 | | [15ke| 440 | 570 |1050| | _| 5ke | 1600 | 1600
FHEHE S g 8 8
954 | 480 | 240 | 200 & |25ke| 620 | 330 | 320 || 2 |30ke| 210 | 270 | 520 | |2 8ke | 1000 | 1000
Rated thrust(N) ™ 30kg| 520 | 270 | 260 ||~] - _ _ R L _ _
2 100-1250 T
Stroke(mm) S0ffE (intervel) WRAHALAR (RN (UnitNm)

Static Loading Moment JK MBS Static Loading Moment

WS S H A | e

This model suggest not be used as load axis of multi axes.

=4 MR 1168




L

SBEEE174.5 _ L=(fHHdTEEfective stroke+294) 19.5
251 AR fEEffective sroke
ZCHEEIR 68754 1 A B PR3, 75+ 1
! 6] o —
3
e
1 oL oL
28671017, 8-M6¥1 7

A
ol glo
BHRES 98 M*100 At
©
g 8 N-M8v16+26.8 BIL ~lc BEEECC
3 5 = w
ﬁm : b f. woggﬁ ﬁ
=
. I™\2:0616H7 o | |99 s0+003 0. @
&
98 _[100+002 P —]c

1T 18 50 100 300 350 450 500 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250

344 | 394 | 444 | 494 | 544 | 594 |644 | 694 | 744 | 794 | 844 |894 | 944 | 994 1044|1094 (1144|1194 (1244|1294 | 1344|1394 | 1444|1494 1544

100 | 50 | 100 | 50 | 100 | 50 |100 | 50 [ 100 | 50 |100 | 50 |[100 | 50 |100 | 50 |100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 |100

5
[vo]
=
=
i
=
z
0
c.
o
()
o)
g
&
g
0]
:

3 |4 4 5|5 6 6 7 7 8 8 9 9 [10 |10 [ 11 | 11 [12 |12 |13 |13

6 8 8 |10 |10 |12 |12 |14 |14 |16 |16 |18 |18 |20 |20 |22 |22 |24 |24 |26 | 26 |28 |28 | 30 | 30

100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [1000|1050|1100|1150|1200|1250|1300

T |z [ Z|>» |-
N
N
w

E8 (kg)|5.05| 54 |5.75| 6.1 |6.45|6.8 |7.15| 7.5 |7.85| 8.2 [8.55|8.9 [9.25| 9.6 |9.95|10.3[10.65| 11 [11.35(11.7 [12.0512.4 12.75/13.1 [13.45

XANBZEBEIRR R » AR ITEA] *Drawings and specifications are subject to change without prior notice.

L

REERE 151 L= (fsifFEErecive shoke+270.5) 119.5
FiTFEEfective stroke

201

95
EHRWER 4505+ 1 HWEER 13.754 1

o o
18
104
165
A
] u—u—ﬁ b o o
E=3
¢ | 120
745 M1100 A_ 46, 1952
REBIREB r:
g N-M8¥16+26.8 B .
g . A N - —1C REHEC-C
&5
B R
-06T6H | =7 EAEE
- S N 60+003 0 K
~c 120 )
745 _|100+00 P

L 320.5 | 370.5|420.5 | 470.5|520.5 | 570.5 | 620.5 | 670.5 | 720.5| 770.5| 820.5 | 870.5|920.5 | 970.5 [1020.5/1070.5(1120.5[1170.5{1220.5|1270.5|1320.5/1370.5 1420.5|1470.51520.5

100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 |100 | 50 | 100 | 50 | 100

A
Mi1]2 /2|3 /3 4 4,5 5|66 7|7 /|8 8|99 /|11 |11 |11 |12]12]|13 13
N

6 8 8 10 |10 |12 12 |14 |14 | 16 | 16 | 18 | 18 | 20 | 20 |22 |22 | 24 |24 | 26 |26 |28 | 28 | 30 | 30

P 1100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 (1050|1050 |1100|1150 |1200{1250 1300

525| 56 |595| 6.3 6.65 7 |7.35|7.7 |8.05| 84 |8.75 9.1|9.45| 9.8 110.15/10.85/11.211.55| 11.9 12.25/12.6 [12.95| 13.313.65| 14

XARNBZEEBERIK TR » RSB IT5BH] *Drawings and specifications are subject to change without prior notice.




2-26v10H7

.
8-M6¥17
T o - —)
|
L) | .
o o
MR 45.25+ 1 9 AR 13, 75+ 1
201
AERL 15 \ 119.5
165
5
E | il
I ]
o
745 MI00 AL, 46
REBIEEB N-MB8T 16+26 817
. —c
# 5 = - =
FA
% i B <t
° 2-86¥6H7 Ml
o o o ol |
E —Ic
|
74511004002 p

800 850 900 950 1000 1050 1100 1150 1200 1250

L 3205 | 370.5 |420.5 | 470.5 | 520.5 | 570.5 |620.5 | 670.5 | 720.5 | 770.5 | 820.5 | 870.5 | 920.5 | 970.5 [1020.5 |1070.5|1120.5 | 1170.51220.5| 1270.51320.5 [1370.5 1420.5 [1470.5 [1520.5

100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 |100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 |100 | 50 | 100 | 50 |100

5
b
lve]
<
é .
g
0
C

>
D

los]
g
&
Q

D

2

A
M 1|2 2|3 3 4|4 5 5 |6 |6 |7 |7 8|8 |9 |9 |10 [10 11 |11 |12 12|13 |13
N

6 8 8 10 10 12 12 14 14 16 16 18 18 20 | 20 22 22 24 24 26 | 26 28 28 | 30 30

P 100 | 150 | 200 | 250 | 300 | 350 |400 | 450 | 500 |550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 |950 (1050 1050 |1100 (1150 1200 |1250 {1300

(kg) 525 | 56 (595 | 63 |665 | 7 |735 |77 /805 |84 |875 |91 (945 | 98 [10.15 |10.85 |11.2 [11.55 | 11.9 1225 (126 [12.95| 13.3 [13.65| 14

XARNBZEBEIRK TR » BARBITi#E] *Drawings and specifications are subject to change without prior notice.

L

RERE 165.5 L= (#3i7REffeclive siroke+285) 119.5
201 HfTEEfective sioke.

95

IR 59, 75+ 1 r—-”o R 13,75+ 1
Te—s] [S7 (=N o o o
R

- 8-M&v17
2-26¥10H7, 118

104
= = -
st
3 : ‘ mal
’ E v
b4
120
189 M*100 A4
, N-M8F16+26. 8ilFL RREC-C
REBIREB e _le REBRE
o ¥ v
2|
E st
g 8 Bl g g:ﬁ
N 2-2676H7 IR 60003 & 2
12 &)
o o o
—c
18 b

200 250 300 350 400

L 320.5 | 370.5 | 420.5 | 470.5| 520.5 | 570.5 | 620.5 | 670.5 | 720.5 | 770.5 | 820.5 | 870.5 | 920.5 | 970.5 |1020.5|1070.5/1120.5/1170.5 [1220.51270.5 1320.5|1370.5|1420.5|1470.5/1520.5

100 50 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 | 100 | 50 100 | 50 | 100 | 50 | 100

A
Mi1 12 2|3 |3 |4 |45 |5 6 6|7 7 /|8/|8/|9/]9 1|11 11[12|12]|13]13
N

6 8 8 |10 |10 |12 |12 |14 |14 | 16 16 | 18 18 | 20 |20 | 22 | 22 | 24 | 24 | 26 26 |28 | 28 | 30 | 30

P 1100 | 150 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 700 | 750 | 800 | 850 | 900 | 950 |1050 1050 1100|1150 1200|1250 |1300

(kg) 525/ 56 595| 6.3 |6.65/ 7 |7.35|7.7 |8.05 84 875 9.1 9.45| 9.8 |10.15/10.85/ 11.2 11.55| 11.9 [12.25 12.6 [12.95|13.3 |13.65| 14

XANRZEEFIRIR MRS » AR ST A] %Drawings and specifications are subject to change without prior notice.




KING TECH GROUP

HZK-Japan
(V5T vk &)
T 231-0062 % )I| B EH P XA
1TBE101& 1 HDOAY — MR
TEL:+81-3-5050-4915
Mail : info@ktjcorp.co.jp
LINE B AMEIR@161fzbhqg

@F'T:I—.
“i... "
""“'I.I"IE '::a
.':.'..lll
@11:*-_=m-.ﬁ
B E-Taiwan
(EXBREROARELE)
708003 &R TR F = R{EIE36057412
TEL:06-298-1177
FAX:06-298-7711
Mail : info@kingtechcorp.com

REBABREHRSE  HBYALT  BUBYRHE -
ARSI REEMRITEERFERZERN - BEIMNE -

Copyright © 2023 KING TECH JAPAN CORPORATION






